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INSTRUCTIONS

Answer all questions.

All questions carry cqual marks.

Only onc answer is fo be given for cach question.

If more than one¢ answers are marked, it would

be treated as wrong answer.

Each guestion has four alternative responses

marked serally as 1, 2, 3, 4. You have o darken

the correet answer.

There will be no negative marking for wrong

answer.

The candidate should cusure thal Roll Number,

Subject Code and Series Code on the Question

Paper Booklet and Answer Sheet must be same

after opening the envelopes. In case they are

different, a candidale must obtain another

Question Paper of the same series. Candidate

himsell shall be responsible for ensuring this.

Mobile Phone or any other electronic gadget in

the examination hall is sirictly prohibitcd. A

candidate found with any of such objectionable

material with him/her will be strictly dealt as per
rutes. '

The candidate will be allowed Lo carry the earbon

print-cut of OMR Response Sheet with them on

conclusion of the examination.

If there is any sort of ambiguity/mistake either

of printing ar factual pature then out of Hindi

and English Version of the question, the English

Version will be treated as standard.

Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, FLR. would be
ladged against him/her in the Police
Station and he/she weuld liable to be
proseculed under Scetion 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar hisn/her permanently from ali

- fulure  cxaminations of  the
Commission.
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Yo

P
o Al & wav fifm o

ol g % % TIE ¥ )
W% 997 B Faa 0 F Sue Al
w6 & AR T 3 B L ¥ N9 & IAT AW I

HIET ST

v we % 9t Aewhee awt Rl W ¥, R e
1, 2, 3, 4 sifea e T ¥ enendt W I AR
il & BL |

e IO - T e i@ WY fepan g |
w5t YR e ST ek 2 T < ditet wre
v et a5 ghiea &t o f5 Sad e
91— gREE T SN TR T RNH &S A e
e ud wl g @ Wi oifer ¥ gl @i
Rrran ) A e J wed-u B & Al arn @@
HyA-ust 1 P g B S | T W wRA W
forert et @ gl

'ﬁaﬁﬁ@ﬂmgﬂaﬁﬁmﬁmqﬂmmﬁ

s ot A & o Redlt eraredt & wia Qe
¢ affa arh Breeh & @ 3u% fawg i 30

T @Ry @ S

ol T T TEE T o Wt ST Wiy of

ECEE &k
10, 7fr f6& v ¥ Al TR 9 S IR q A

TER H1 IR T W A F R A B www
S B T 00

o B sraft TEE wEQ TERT WRN B AT
e & o smiuga aonly o I ¥, o
wg st ¥ Rrow g ¥ mafrel o @
R ofrt e, . €. (e Ty dr )
afafrm, 1992 % Praw 3 & wgg Frdary A
Sornlr e & e T et @t after F B
gl e & T Tlmel @ Refta &
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1 Match the List-I with List-II and select the correct answer by using the

codes given below :
List-1
(Ancient sites)
{A) Balacot
(B) Surkotda
(C) Lothal
(D) Chanhudara
Codes :
Ay (B) ©
(1 avy (D
@ @O @ (1)
() am @O Iv)

@ @ v

288°

(D)

@
1)
uy
O

List-IT
(Evidences)
Bead factory
Dock vard
Pot Burial
Shell industry

'@-Iﬁ@-nawwamw%ﬁﬁaﬁ@mm

B TEH T W TG DA

-1

(it er)
(A) T
(B) FIHiTH
(C) wgw
(D) wgI=T
E TR

Ay ® (©)
(1) av) dm I
@ @O @ (Im
@G m o av)
@ @ @) Jdon

210/HIST._A] -

i

Y

1v)

®)

()

3

(anem)

T ST H BTG
eI W T

HAYN AR

dig FEr
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Given below are two statements, one labelled as Assertion (A) and the

other labelled Reason (R). You are required to examine these two statements
and select the answer from the codes given below :

Assertion (A) : Mohenjodaro was deserted by -about 2000 B.C. but
Kalibangan and Lothal on the other hand. survived until
the 18% Century B, C.

Reason (R) : It seems that Harappan culture had a differential life span
in different regions.

Codes :
(1) Both (A)‘and (R) are true and (R) is the correct explanation of (A)
() Both (A) and (R) are true but (R) is not the correst explanation of (A).
(3) (A) is true but (R) is false.

4) (A) is false but (R) is true. |

T & = R T, w (A) @ an @ R

w%wmaww‘fmqﬁmaﬁmeﬂw?ﬁﬁﬁqgﬁa‘féaﬁw
@ G BT -

BT (A) ﬁmﬁaﬁﬂazaooéq\mmwm%m
aﬂTEﬁﬁ%mnaﬂ'{a‘raa lsﬁﬂaﬁé Y. 9% fqemm
w o)

HRW (R) : Wﬁaﬁm%%mﬂ@ﬁr%ﬁﬁm%ﬁﬂsmﬁaﬁ
CEE L r i T

&He

(1) (A ot R) T & ¥ ok (R), (A) & v =@
@ )R R I A E g ®), A) BT e
G) (W) W ¥ g ®) T ¥

@) (A) ™ ¥ g R) T ¥

| 20/mIST._A) T (cone...

¥R
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3

The term second urbanization in ancient India, refers to whose

'urban process’ ?
(1) Indus Valley (2) Gangetic Valley
(3) Narmada Valley : (4) Kaveri Valley

Ww%wﬁﬁwmﬁmﬁ%ﬁﬁm&‘mﬁﬂuﬁm’
@ 3 s ¥ 7

(1) fy od @ T
@) T T @) FAT =

Satvahan ruler who performed ‘Ashvamegh Yagya' twice, was :
(1) Krishna (2) Shatkarni - I

(3) Shimuke (4) Rudradaman

e SEF B @ ar siywm a9 fen, ¥ oav

(1) o0 (2) Tt waH

@) T @) wE

 Which of the following pair is not correctly matched 7

(1) Vishnu Sharma . Panchtantra

(2) Dandi | . Dashkumar Charit
(3) Vishakhadatta . Hitopadesh

(4) Kalidas _ Meghdoot
Pttt ¥ ¥ A g gt T8 ¥ 7

(1) faop s ~  dEES

@) T | - @y S
(3) faemEEd - e

(4) e - WS

210/ HIST. Al s IS (Coned.-
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6  Match the List-1 wrth List-IT and select the correct answer from the codes

given below :

List-I

(Person for propagation

of Buddhism)
(A) Uttar
(B) Mahendra -
(©) Rakhit (Rakshit)
(D) Mahadeo

- Codes : .

A ® ©
m o aov @
@ @ @ (V)
& O @ (1)
@ ™ o ()

List-11
(Country-places)

) Suwarn Bhumi _‘ |
(I)  Banvasi
() Mahishmandal

" (IV) Ceylon

(D)
(Im)
M

{av)
()

,@«Iﬁﬁ—ll%ma@mﬁmm%ﬁﬁﬁ@%ww

& WA PG

T

(= o ¥ o)
(A) v
(B) #e=
© raa i)
D) wERT
T

A ® (©
O O ) (1)
@ @ @ 1v)
@ O @

@ v @O @
210!HJST_ A]
IR T N :f*___ AL

-
Rar—a)

O gl

(y  sE™

() =fsEqeew

(Iv) o

(D)

(1)

Y

(IV)

(1IT) .

6 HUATIN (Contd...
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7 Name of the writer of the book Pratigyayogandharayan' is :
(1) Padam Gupta (2) Bhass
(3) Jai Singh ' (4) Hemchandra
T wRemErieRE % dEE & AW ¥
(1) " @) w9
(3) waRE (4 O
8  The line ‘Malwaxgiunayayodheymadrkabhir' is being narrated in which of
the following inscriptions :
(1) Meharoli iron piller inscription
(2) Nalanda inscription
(3) Allahabad inscription
{4) Mandsaur inscription
TR iR @ e frw freifed setw o gon ¥ 7
(1) ¥Eq WE WA
(2) Tl WARA
(3)' FAFERE WRA
(4) W@ wala
9  In which period agriculture community was originated ?
(1) Chalcolithic (2) Mesolithic
(3) Neolithic (4) Paleolithic |
FuH TG B Igwd Rew ww W ogem ?
(1) TS (2) AN B
(3) STEHUTSIOT il (4) YUUErE BT
210/ HIST. Al 7 DAY (Coned...
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10  Match the List-1 with List-II and select the correct answer from the codes
given below : '

(A)
(B)
©
®)

List-1
(Officers of Chandragupta
Maurya)
Samaharta
Pradeshta
Vyavharik

Aatvick

Codes :
(A) (B ©) (D)

EER)

List-11
(Departments)

Forest
Judge (Civil Courts)
Judge (Criminal Courts)

Revenue

@—Iaﬁ@-lm@maaaﬁq@n%ﬁan&@awww

G
(fram)
O T
() =ty @t TEE)
()  =arneer (Wiver <)
av) ==

1 avy o (1) )
@ @ av @ am
G @ @ aw Q@
@ v o a m
T BT

-1

T & )
(A) gHvEat
®) W
(C) =naeiliw
(D) st
FT

1)
2
€y
)

210/ HIST,_A]

A ® (©) D)
(Ivy (m (In) )
m avy o (1)
m ™ O
awvy O Ly ()

ot B . (.

’ WEM (Cont...
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11

12

From which place remains of Buddhist Stupa was found in’ Rajasthan ?
(1) Bheem‘ Dungari

(2) Sohanpura

(3) Ganesh Dungari

(4) Ganeshwar
wmﬁa@@aamﬁqﬁwwwma% ?
(1) w37 |

(2) WreTga

(3) oI ST

(@) TR

Which one of the following pairs is not correctly matched ?

(1) Ajatshatru - Follower of Aajivak

(2) Darshak - - Successor of Ajatshatru
3) .Chand Prodhyot - The King of Vats

(4) Prasenjit | - The King of Vazzisangh

e % A A gW wd gt @ ¥ 7

(1) ST - aeEE &1 Sga

Q) W ~ ety @1 S
(3) avgutﬁ'd B *urrn

@ W — oiEg W W

| UO/HIST A ? UG (Conta--
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13 Which one of the following temple is not in 'Dravid' style ?

(1) Jagnnath Temple of Puri
(2) Vrihdeshwar Temple
() Kailash Temple of Kanchi

(4) Temples of Mamalpuram
Fra & & o by afs o @ @ 3 2
W 30w T

(2) gRyR Hfax

() %‘H’r @1 ey Afat

4) wmEyE % At

14  Kautilya classified providential calamities in how many heads 7
1y s @ 7
G 8 @ 9

Ffee 3 A Roel B feey Wi ¥ aie R ¥

1) s 2) 7
(3) 8 @ 9
210/ HIST._A] 10 IR [Contd...
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15

16

17

Mahajénpad situated on the bank of river Godavari was ©
(1) Assak (2) Avanti

(3) Vatsa (4) Maisaya

Sl ¥ ¢ A wemAwR Rew ¥ 7

(1) =% (2) ot

3) 9™ ' (4) AW

Title of the Ibook ;vhich Amir Khusrau wrote in:prose. is-:
(1) Khazain-ul-Futuh (2) Nuh-i-Sipher_

(3) Mifta-ul-Futuh (4) Tughlag Nama
aﬁfﬂmwmﬁwmﬁﬂg@%wﬁaﬁ% 7
(1) eI $9E @ Tt

(3) Prea-w-BE 4) g T

Which Sansklif drama is engraved on the walls of 'Adhai Din Ka Thoupra'

in Ajmer ?
(1) Swapnvasavadattam (2) Harikeli
(3) Lalit Vighrahraj (4) Prabodh Chandrodya

aﬁrﬁ’(% ‘oo et @ oS ﬁwwﬁiﬂmwm

(1) T () whendr

() Wi e @) v TR

2i0/ ST Al u A T
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18 Which of the following sequence is chronologically correct ?

(1) . Kabir - Nanak - Chaitanya - Dadﬁ
(2) Nanak - Chaitanya - Kabir - Dadu
(3) Chaitanya - Dadu - Kabir ) Nanak
(4) Kabir - Chaitanya - Nanak - Dadu

frafafen & @ #e1 79 FEHT F AFEAR GE T 7

() *EX - 9% - ¥a9 — T[

@) SR WO - FWX - [
() ¥aw - I/W — FEX — AVE
4 FEX — ITY - IEE — TG

19 Who among the following regarded Delhi as the largest city in the entire

Islamic East ?

(1) Alberuni

(2) Ibn Batutah
(3) Marco Polo
(4) * Abdur Razzak
Prfifaa § Reay Rl & o sie 7 o1 ga@ 991 T @er ¥ 7
(1) omaEH
(2) ST @
(3) H® Tmr

(4) IFL o |
210/HIST. Al 2 WV oot

Lol i, - (i
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20 Match the List-I with List-I1 and select the correct answer :

List-I

(Sufi Silsila)
(A) Chisthi Silsila
(B) Sub-Silsila Jamaliyah
(C) Qudariya Siléila
(D) Surhavardi Silsila
Codes :

@ ® ©
1 @ @ . @
@ ® @ @)
G @m & 0
@ @ O ()

(I
(i)
av

(D)
)
(L)
(I
(Iv)

List-IT

(Founder)
Bahuddin Zakaria
Niyamat

Shaikh Jamaluddin
Shaikh Muinuddin

@—Iﬁqﬁr—nﬁgﬁﬁﬁmaﬁwmam%qt

g1

(el Frafren)
() fusd Tt
(B) <u-TyRien s
(C) wain fefan
©) goEd R
=

@w ® ©
@ @ m
@ 0 @ a
®» @ @ O

@ @ O m

210 / HIST._A}

®
@

Iv)

D)
()

(1)
Uy

(V)

-1

(sieetra)
FEGE DIl
Faa

@ TAGEH
@ gEIEH

LRI (Coned--
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21  Arrange the following events in chroriological order by using codes given

below :
(A) Second Batlle of Panipat
(B) Battle of Bilgram
(C) Treaty of Purendar (Shivaji - Jaisingh) |
(D) Treaty of Sugauli
Codes :
O @, ©). &), ®
2) B), (4), (), (D)
(3) (A), B). O, ©
@ O, B, 0O, A |
Rrerifira el @1 R T g @ e § hIeigHn W e B :
(A) T w1 R g | o
®) fwm @ 3@
© wow @ QA - TR
O i @ |
T :
(15 B), (C), (A), D)
| 2 ®B), (&), (©), (D)
3) (A), B), D), €

@ (D), @), ©). (A

[ %

210/ HIST._A] 1

IR  LConed-..
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22_ Which one of the pairs is not correctly matched ?

)
2
3)
4

Amir Khusfai.n

Tughlagnama

Sultan Firoz Fatuhat-i-Firozshahi

Afif Tarikh-i-Firozshahi

Barni - Futuh-us-Salatin

frifen ¥ A BT g A & E 7

(1) &t gad - g T

(2 FEH - EE-g-SRwT
(3) oTHIE —  AE-T-EHISIeTd
(@) T —  GE-SuE-TARI

23  Which of the following statement is correct ?

(1)
)

G3)

@

Number of Turkan-i-Chihalgani all the time remained forty.

Raziya became the Sultan immediately after the death of Titutmish.
Bahram Shah succeeded Raziya to the throne.

Masud Shah became the Sultan immediately after the death of Raziya.

fraifeg & A o BT W E 7

M

H-T-REerl $1 gaE wen el e @

(2) IegRmE # gY % gld uvER (N g o

() weuase R w1 SO S

(4)

R @ g B g TvEE A R gEE ST

210/ HIST_A] - 15 VMR, LConed.
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24

25

The ratio between military and civil population for determining the

population of Southern region adopted by Maurland was :
() 1:20 2) 1:30
(3) 1:40. 4 1:45

drdvs 3 Rl A9 @ e B Frefor B % fre A @ adfe
RECIECTIEE G - |

H 1:20 2) 1:30

3y 1: 40 4 1:45

Which of the following Sultans of Delhi was originally a naﬁve of Gujarat ?

(1) Shihabuddin Umar

(2) Mubarak Shah

(3) Nasiruddin Khusrau Shah

(4) Aram Shah

frifea & @ e Relt @1 gee qua Ra & P ar @
(1) g s

(2) TR® e

() e g g

(4) TOH TR

210/HIST. Al 16 |HAUEHINGY (Contd...
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26
!
!

27

.f 28
f
]

In which battle Rana Sanga of Mewar defeated the forces of Babur 7
(1) Chanderi - (2) Bayana

(3) Khanua (4) Ghagra

frg g2 ¥ Na® & W0 G OA qET A AT b e foEn?

1) == ' (2) =@

() g @) ==

Al-Tumgha Ja_gir' was started by the Mughal Emperor :
{1) Humanyun (2) Akbar

(3) Jahangir | (4) Bahadur Shah
FA-erTEl SR Red T ged 5 wiew @ o ?
1) T (2) s

(3) EHR (@) wEET e

In 'Mansabdari System' month - scale system was introduced during the

reign of :
(1) Akbar (2) Jahangir
(3) Shahjahan (4) Bahadur Shah

P S SR e, Rk
e X .T:

(1) s (2) BRI

(3) STl (4) WEHT 3

210/ HIST._Al 17 R - (Coned...
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29  Arrange the following (with reference to Shivaji) in chronologibal ord_er

and select the correct answer from the codes given below :
(A) First sack of Surat

(B) Afzal Khan episode

(C) Coronation of Shivaji

(@) Night attack on Shaista Khan

Codes :

O B O @ ©

@ ® ® © @

G W ® © O

@ O ®w o e

ﬁwﬁmﬁw%mmﬁﬁ(ﬁﬁﬁﬁﬁﬁﬂaﬁiﬁ)m?ﬂ%ﬁq
T H § W IT B AT DI

(A) Y& & T e

(B) owS@ @ HeAl

(C) Tramht w1 Teamms

(D) wE& @i gy UK SHEHAY
%z :

@ ® O @ ©

@ ® O © K

3 4 ® © @O

@ © A O @B
210 / HIST._A| 1

oo
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30 Give the sequence of following travellers visiting Vijaynagar empire on

the basis of codes given below :

(A) Barbosa

(B) Abdur Razzak.

(C) Couti

(D) Paes

Codes :

H © 6 @ O

@ @& © O ®

3 ® (W © O

@ O © ® O

R W @ RN Al @ oHEn B emak W AR R @ g
A ol S @ E c |
(A) SREHET

(B) SrgY

©) aa

(D) U=H

e

nH © B @ O

@ @ © O ®

-(3) ® @ © O

4 ® ©) B &)
210/ HIST._A] 1

A~

ANLIRA (Conta...




210A 210A 210A 210A 210A 210A 210A

31

32

Which one of the term not included- in the Charter .Act of 1813 7

(D
2

3)

)

East India Company's monopoly with India was abolished partially

East India Company's trade monopoly with India was abolished

completely

The British merchants were permitted to settle in India after fuifilling

certain conditions

The Company's tea trade with China was reserved for it.

aﬂTqazlswirf&rwrth{asamaﬁeﬁ?

1

@

3)

@

éﬁgﬁmmﬁ%wﬁmmﬁwﬁmﬁmw%w
Casll

S o R W TR § AWR F THIER qeie
wT R

%&Tmmwﬁmaﬁaﬁwm%mwﬁwﬁ
AR CRE]

F H GE Y Y R G @l

Who made the following statement that 'the revolutionary ideas in science

were developed under the impact of history' ?

(1) Darwin ' (2) Collingwood

(3) Marx (4) Hegel

freripa wu foaat & R ¥ witeerd e shem % wvE ¥ Rt
T Al

(1) =i @) wieTgs

@) W ) &

210/ HIST. Al 20 (USRI (Conta-.
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33

34

35

Trevelyan treated History as a branch of :

(1) Science (2) Literature
(3) Political Science (4) Geography
afvas A gRew & fewar wmar A g7
(1) fasm (2) ufew
@) el fEE @

Number of thesis (Arguments) against the indulgence which Luthar hanged

on the main gate of Church, was :
(1) 80 (2) 85
(3) %0 @ 95

E@Tmm%ﬁﬁaﬁfaﬁ%g@mwﬁﬁgﬁmﬁaﬁﬁmﬁr
e f@i?

(1) 80 (2) 85

(3) 90 | @ 95

In .which year was Non-alignment movement organization was established ?
(1) 1947 (2) 1956

(3) 1961 (4) 1965

fre ad § 7z FROW o=IWE WM @1 Wi gent ¢

(1) 1947 2) 1956

(3) 1961 (4) 1965

210/HIST._Al - 21 [IMRMNY (Contd.
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36 Arrange the following in chronological'o'rder and select the correct answer

from the codes given below :

(A) Santhal uprising

B) Khasi Revolt

(C) Chuwar and Ho Revolt

(D) Ramosi Revolt

Codes :

H© O ® O

@ @ © O ®
T ® W O O

@ © ® @ ©

Ryl & Fwea § wiRd ol Y Ru w g & W W @ 9w
CAIS I - |

(A) daw TameE

B) T faEE

(€) TaR &R 7 fde
©) o fee

T

1n © O & &
@ @ © O ®
@ ® ) © O

@O ® ® O
210 / HIST._A] 2

2
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37

38

By w}ﬁch treaty in 1763, ..Third Karnatak war came to end ?
(1) Allahabad (2) Delhi

(3) Paris (4) London

1763 A g dfy ¥ wrm gi wAlew IE W o gl 7
(1) swEEE (2) Tewtl |

(3) uhw | @) =

For the first time, Act in which separate electorate to Indian Christians

was provided ?

(1) 1909
@) 1919
(3) 1935

(4) Indian Independence Act 1947

TRl sl % fg yaw Pavew & waue fr et @ adwe

@ T ?
(1) 1909
(2) 1919
() 1935

(4) WA W artEd 1947

210/ MSTA » T
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39

40

Name the President of the special session held in Calcutta (1920) in which

the resolution on Non-cooperation was passed ?

(1} Motilal Nehru (2) Jawaharlal Nehru
(3) Lala Lajpat Rai @) Gandhiji

e b RSty SR F (1920) FEd oRaEE o W Y U
GO o, Sl SemEan feET @y °?

) e dgs @) vEEEE Jw

(3) wrN WEYT T 4) Tt

Rabindra Nath Tagore suggested that the partition date of Bengal be

observed as an occasion of

(1) Solidarity day

(2) Black day

(3) Raksha Bandhan day

(4) Brotherhood day

W e Rew &1 AMF B gEE WE TR A R an

(1) wew fGow & w9 o

() @ faw & w9 A

(3) wEn §uw Rgg H Ew A

@) vEer fag ¥ e N

210/ HIST._A] . (Contd...



,10A 210A 210A 210A 210A 210A 210A

41 The Swaraj Party decided in favour of the council entry programme

because :

(1) Tt wanted to gain political experience.

2 &k wantéd to expose hollowness of the Act of 1919.
(3) It wanted to cooperate with the_. government.

(4) Tt wanted favour from the government.

e T % DR wdw @ Pt R wis

(1) =% ToRE Sgwd W wen dedt 4

(2) =E 1919 % ofraw I HAACE B TEER G gea 9
(3) 9% WX A e HIA dwdr

(4).%W@E@ﬂﬁﬂﬁﬁ(?ﬂl

42 Thé author of 'Ihdian Mussalman' is -
(1) Hunter (2) Aga Khan

(3) Rizaul Karim (4) Ahmed Khan
feae gEeHE B wG@H B §7
(1) T (2) @l

@) foww wtm @) R @l
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43 The grant of Diwani' in Bengal, Bihar and Orrisa was given to English
East India Company by the treaty in 1765 with :

(1) Shah Alam - II
(2) Mir Quasim
(3) Siraj-ud-daula
(4) Mirjafar

e £z iy ek B e, P e e G W oger
1765 % s @w g o ¥ W gon an?

(1) s snaw e
@) ¥ wmfm

O IRLEUS S ESHE
(4) AR

44 The first Indian woman to become the President of Congress in 1925 was
(1) Sarojini Naidu
(2) Annie Besant
(3) Vijay Laxmi
(4) Aruna Asaf Ali
1925 ¥ HHrG ® oTeAd TN AN weW WA Heen &
(1) wafrl Ty |
@) T wEe
@3) Tl

(4) OTE IEGAI
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45 Give the proper sequence of the following by using the codes given below :

(A) Hartong Commission

(B) Hunter Education Commission
(C) Woods Despatch

(D) Sadler University Commission
_Codes :

O © ® O @)

@ ® @ © O

G @ O ® ©

@ » ® © O

Pt & Ofiq BAGER R T FA H MHR W wEY
(A) i ST

| B) X fgm ermam

€ 3§ Rl

(©) deex Tryafirnem eI

m © ® O @
@ ® @& © O
3 & O ® ©
@ A @ © O

~1

[AHOMLALHR J€omec-
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46 Which one of the following cannot cast his vote for the election of President

of Indian Union ?

(1) Elected member of Lok Sabha

(2) Elected member of Rajya Sabha

(3) Elected member of Vidhan Sabha

(4) Elected member of Vidhan Parishad |

srcdin i % ey & Pt & Pt ¥ 3 9 o 7w T v
gpar¥? | - :

(1) w@w " & ek @

() g aw % Faifa gem

@) fqum = @ Faiie ww=

(4) Tum theg = Fafe we

47 The Mountbatten Plan which proposed the partition of India was declared
in which month of 1947 AD. ?

(1) April (2) May
() June 4) Jly

qGve Yo7 Ao A WG o Qe 1947 . % few w o afw
W ?

(1) ofiw 2 =3

@) @ g
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48

49

50

In 1947 all but three princely states acceeded to the Indian Union.
Which one of the following was not of those three ?

{1) Bhavnagar (2) Hyderabad
(3) Junagarh (4) Kashmir

1947ﬁ%ﬁaihﬁﬁam%mﬁmﬁﬁfﬁqﬁﬁaﬁ§§zﬁlmeﬂﬂ‘rﬁ@r
frifea ¥ ¥ SAE TE T M7

(1) "AETR (2) FEE

@) e @) FwR

Who gave the call Back to Vedas' 7
(1) Swami Vivekanand (2) Swami Dayanand

(3) Raja Ram Mohan Roy (4) Balgangadhar Tilak
A A ol wwy w oA R fer ?
(1) @M faEwn< @) @ TaEe

(3) TN (M A W™ @) TR fws

What was the name of secret police of Hitler ?

(1) Reich Culture Chamber (2) Checka

(3) Starm Abteilung (4) Gastapo
feee @ debe givm &1 w0 W Al 7
(1) @Y Hra T (2) T

. (3) wd g (4) T
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